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QUESTION 1

When severely errored seconds (SESs) are present in the PM section at the ODUk layer, which of the following alarms
is reported on the NMS? 

A. ODUk_PM_ES 

B. ODUk_PM_SES 

C. ODUk_PM_SESR 

D. ODUk _PM _UAS 

Correct Answer: B 

 

QUESTION 2

A PAUSE frame uses a reserved multicast address and is not forwarded by a bridge or switch, In this way, the PAUSE
frame does not generate any additional information. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 3

Which of the following are communication quality alarms? (Multiple Choice) 

A. Optical port loopback 

B. No login of an NE user 

C. NE communication interruption 

D. Loss of optical signals 

Correct Answer: CD 

 

QUESTION 4

An unprotected chain consists of four NEs: NE1, NE2, NE3, and NE4. An end-to-end VC4 trail NE1--NE4 is created,
and NE5 is added between NE2 and NE3 for capacity expansion. The original configuration remains unchanged, and no
service is configured on NE5. In this case, the unprotected chain becomes NE1-NE2-NE5-NE3-NE4, and how many
VC4 trails can be searched out? 

A. 0 
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B. 1 

C. 2 

D. 3 

Correct Answer: C 

 

QUESTION 5

For 100G (112 Gbit/s) signals, the actual data baud rate is only 28G baud. 

A. TRUE 

B. FALSE 

Correct Answer: A 
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